30. A =HFN|
30-1. CH7| & =& N Z

ool M= 2 M=
oj < oFZk b oFZk oj o oFZk b oFZk oy
=t =t Lfsact | LpsCt Z Lt =Lt LfseC} | LpsaCt
2015 21.9 43.0 29.7 46 0.9 23.1 44.4 30.1 1.8 0.6
<X|gE>
A XY 24.0 389 308 5.5 0.7 24.4 40.0 32.2 2.7 0.7
B X< 19.1 483 28.2 34 1.0 213 50.2 273 0.7 05
<A Hs
= At 20.8 426 314 43 1.0 22.1 442 31.3 15 0.9
of &t 23.0 435 27.9 48 0.7 24.0 446 28.9 2.2 03
< E>
xE 35.0 42.1 18.0 42 0.8 38.1 452 15.1 15 0.2
5 E 20.5 443 30.0 42 1.1 20.2 489 284 16 0.8
i 149 42.1 36.6 5.0 14 16.3 431 37.7 1.8 1.1
o= 215 441 29.8 45 0.1 21.7 428 330 23 0.2
<Xl
= kS 17.5 36.7 438 1.9 0.0 22.0 323 437 1.9 0.0
MEZLEHMETL 214 479 26.0 47 0.0 22.0 473 28.0 2.7 0.0
AHRE] 224 423 31.9 35 0.0 19.9 40.2 383 0.9 0.8
M| ATZHOYE] 15.4 406 359 7.0 1.0 177 44.4 34.8 26 05
S Ltz 374 46.8 12.0 3.8 0.0 379 476 10.8 3.0 0.7
7|s& 7| A ZE 217 32.9 403 3.9 1.2 234 32.1 40.6 14 25
Gt 2| 12.8 52.1 31.2 15 23 145 58.8 245 0.6 17
MEFE 244 424 28.0 3.9 14 25.9 446 28.0 1.2 04
7| Bt 19.8 446 29.1 56 0.9 20.6 463 313 1.9 0.0
<HHE>
15 ~ 19A| 17.1 406 353 56 13 148 447 38.8 16 0.0
20 ~ 29A| 19.4 412 329 5.7 0.8 18.2 379 39.9 2.1 1.9
30 ~ 394 17.9 42.1 349 46 04 17.1 415 39.2 1.8 04
40 ~ 49M| 175 39.6 36.9 52 0.9 18.1 428 374 1.1 0.6
50 ~ 59A 20.6 437 31.0 3.7 1.0 21.7 478 28.1 1.7 0.7
60M| Ol & 30.3 467 18.2 3.9 0.9 34.8 476 14.9 24 03
65M| Ol & 326 46.0 16.6 3.8 1.0 37.6 46.6 13.6 20 0.2
<HXe ZRE>
T el 27.5 479 184 5.2 1.0 31.1 49.1 17.2 18 0.9
ofmte 17.7 394 379 42 0.8 17.3 40.7 39.7 1.9 04
g F=E 6.2 32.0 57.1 47 0.0 0.0 58.3 417 0.0 0.0
M| CH 3= E4 0.0 57.5 425 0.0 0.0 0.0 57.5 425 0.0 0.0
7|Et 441 374 185 0.0 0.0 337 36.9 294 0.0 0.0
<7t HERAS>
1002 0| Tk 27.9 476 19.3 45 0.8 29.3 49.1 19.6 14 0.6
100~200 18.1 420 34.1 42 15 19.0 46.9 31.1 15 16
200~300 21.7 408 329 44 0.2 22.3 39.9 36.0 15 0.2
300~400 20.2 38.1 346 6.4 0.8 23.0 37.2 35.8 35 0.6
400~500 15.8 432 354 40 16 15.7 433 403 0.7 0.0
500~600 245 433 24.0 7.2 1.0 27.2 413 26.6 48 0.0
600~700 213 54.8 23.9 0.0 0.0 21.7 59.3 19.0 0.0 0.0
700TH O] & 28.1 470 23.2 17 0.0 29.0 53.9 145 2.6 0.0
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30-2. EY AU AT IS HEAE
£ %)
EQHZLE 42 s ML=
oj < oF7t b oFZk oj o oF7t b oFZk oy
=t =t Lfsact | LpsCt Z Lt =Lt LfseC} | LpsaCt
2015 18.0 39.1 346 6.2 2.1 16.4 31.1 31.6 14.1 6.9
<X|gE>
A X< 20.1 39.7 336 6.2 0.4 16.1 29.8 317 17.0 5.5
B XY 15.3 383 36.1 6.1 42 16.7 327 314 104 8.8
<A Hs
=N 17.6 385 36.0 5.7 2.1 15.6 306 32.8 12.9 8.2
of Xt 18.5 39.7 333 6.6 2.0 17.1 315 304 153 5.7
< E>
xE 30.9 427 18.8 53 23 284 29.6 21.1 15.0 5.8
5 E 15.1 418 33.1 78 2.2 17.8 314 343 12.0 44
i 12.8 373 419 6.2 1.8 11.1 309 346 15.0 83
o= 16.5 37.0 385 5.8 2.2 12.9 32.1 340 135 75
<Xl
22l E 19.8 243 487 5.2 19 13.1 30.5 38.6 14.2 3.7
MEILE™HET 16.3 449 333 5.0 05 134 36.0 333 13.1 42
AHRE] 15.9 304 459 53 25 16.4 30.5 32.8 12.1 8.2
MH| AT E] 10.2 36.2 414 7.8 44 6.5 30.7 354 175 9.9
SR 33.0 50.3 11.3 5.0 0.4 28.9 34.9 16.0 174 28
7|s& 7| A ZE 19.7 32.0 383 9.0 1.0 18.1 22.0 354 14.8 97
Tl 22X 10.1 51.7 315 5.0 17 10.6 39.8 337 7.1 8.7
MEFE 20.9 383 31.0 7.0 2.8 19.0 28.1 30.5 15.1 7.2
7| Bt 15.9 386 389 48 1.8 16.7 322 330 12.0 6.1
<HHE>
15 ~ 19A| 9.6 343 472 6.3 26 149 26.3 37.7 16.3 47
20 ~ 29A| 16.6 308 463 49 15 143 27.7 29.5 187 9.8
30 ~ 394 123 386 38.8 8.9 15 8.0 33.1 37.1 14.1 77
40 ~ 49M| 14.5 383 404 49 2.0 115 28.6 37.2 14.1 8.6
50 ~ 59A 18.6 389 348 5.9 17 16.6 327 337 11.0 59
60A]| Of & 26.0 446 20.5 6.0 29 25.7 329 224 13.7 53
65M| Ol & 28.7 447 18.2 53 3.1 282 32,5 20.9 134 5.1
<HXe ZRE>
T el 234 394 25.7 75 4.0 238 30.0 229 13.2 10.1
ofmte 14.1 387 413 52 0.7 109 315 379 149 47
g F=E 0.0 53.8 40.0 6.2 0.0 0.0 414 37.1 215 0.0
M| CH 3= E4 0.0 432 56.8 0.0 0.0 0.0 43.1 56.9 0.0 0.0
7|Et 337 36.9 294 0.0 0.0 24.1 46.9 28.9 0.0 0.0
<7I7 HEZAS>
1002t O] 2F 23.1 468 23.7 5.5 0.8 25.3 357 22.8 116 46
100~200 15.6 376 385 6.9 14 12.8 29.9 343 14.6 8.4
200~300 19.1 340 39.0 6.6 14 15.2 29.2 354 127 75
300~400 147 343 373 79 5.7 112 25.3 359 18.2 93
400~500 10.7 355 46.0 34 44 10.2 26.3 363 184 8.8
500~600 17.3 438 31.2 6.7 1.0 118 36.9 30.7 16.1 44
600~700 17.6 53.2 29.2 0.0 0.0 24.2 46.0 20.7 9.0 0.0
700221 0| 4 273 46.5 20.2 6.1 0.0 25.2 4222 237 7.7 1.2
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30-3. =X|&F

oy 19
_|T|_

19
=

m!

A

2015
<X|gE>
A XY
B X|<

2
&

<SS =>

2 ot
Ralgal

A
o
u
ng
v

A
2 oo oy
m

A o 12 W Y

o el ]
Mo v
N

=
Mo
N

60A| Of &
65M O &

<7t HERAS>

1002+ O] TF
100~200
200~300
300~400
400~500
500~600
600~700

7002+ 0| 4

19.0

21.6
15.7

18.2
19.9

339
15.9
12.7
174

16.9
19.1
19.6

84
37.6
19.0
10.5
20.2
18.5

11.5
18.3
10.9
14.0
18.3
29.8
32.8

25.7
14.3
0.0
0.0
24.1

273
16.1
19.8
13.6

8.3
214
32.2
239

31.8

33.0
30.3

31.0
327

32.7
33.6
32.8
29.0

20.6
36.3
28.0
31.3
36.6
204
389
30.5
354

31.1
25.9
293
34.0
33.6
334
325

29.7
33.6
19.4

0.0
46.4

38.5
354
30.5
255
21.1
31.2
34.8
31.0

31.6

31.5
31.8

329
30.2

171
35.8
36.3
343

40.8
26.0
30.9
39.2
11.6
38.6
39.2
30.1
333

419
359
38.8
36.0
31.6
20.1
17.6

22.7
38.2
41.9
71.2
18.5

20.0
30.6
35.8
40.2
40.9
30.1
16.4
32.8

11.8

10.1
14.1

11.3
124

104
10.7
11.9
13.5

18.2
13.5
13.7
14.9
104
12.6

6.0
12.1

9.5

10.8
134
14.7

9.2
12.3
11.3
10.8

12.8
10.8
26.4
28.8
10.9

9.4
14.0
8.4
11.6
20.5
14.7
12.5
7.7

57

3.8
8.2

6.6
4.8

59
4.0
6.3
5.8

35
5.2
7.8
6.3
3.8
9.4
53
7.0
3.2

4.7
6.6
6.3
6.8
4.2
53
6.2

9.1
3.1

12.3

0.0
0.0

4.8
39
54
9.0
9.2
25
4.1
4.6
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31. & A85t= 78 A= 3 8888
311, A4 YW ALY 28Uy
(EH9 @ %)
A=) S8WH(EXE) =82 (=)
Al T
ws2| os | 0T |moe| g | o= (BEAA) EAA ) SR BTN 0
(5= i =8 =8 =8 =S =S
ME)
2015 85.3 1.6 9.6 34 0.1 2.8 34.6 62.6 87.5 0.0 125
<X|gE>
A XY 87.3 0.8 9.8 1.9 0.2 3.1 36.3 60.6 75.0 0.0 25.0
B XY 83.5 23 94 48 0.0 2.5 329 64.5 91.7 0.0 83
</ dHs
= At 84.1 18 11.0 3.0 0.1 2.8 406 56.6 91.7 0.0 83
of &t 87.7 1.2 6.7 43 0.0 2.8 22.7 74.5 75.0 0.0 25.0
< E>
xE 91.2 1.7 2.0 5.1 0.0 49 18.7 76.5 80.0 0.0 20.0
5 E 87.5 0.7 9.9 2.0 0.0 3.0 30.1 66.9 1000 0.0 0.0
nE 82.2 1.9 117 3.9 03 1.2 425 563  100.0 0.0 0.0
o= 80.8 1.6 15.9 16 0.0 2.0 490 49.0 75.0 0.0 25.0
<Xl
2| 92.1 0.0 79 0.0 0.0 29 51.4 457 0.0 0.0 0.0
MEZLEHMETL 79.5 0.0 16.7 26 13 32 452 51.6 0.0 0.0 0.0
AHRE] 712 1.9 26.9 0.0 0.0 0.0 29.7 703 100.0 0.0 0.0
MH| AT E] 80.1 26 14.6 26 0.0 33 463 50.4 75.0 0.0 25.0
S Ltz 91.1 0.7 0.7 74 0.0 33 22.8 740 1000 0.0 0.0
7|s& 7| A ZE 83.2 0.8 15.1 0.8 0.0 0.0 495 50.5  100.0 0.0 0.0
Tl 22X 84.9 23 8.1 47 0.0 14 39.7 589  100.0 0.0 0.0
HEFEE 90.4 2.2 44 2.9 0.0 41 17.9 78.0 66.7 0.0 333
7| E} 87.8 2.0 5.9 44 0.0 3.9 30.0 66.1 1000 0.0 0.0
<HHE>
15 ~ 19A| 50.0 00 500 0.0 0.0 0.0 00 1000 0.0 0.0 0.0
20 ~ 29A| 57.6 30 364 3.0 0.0 0.0 421 57.9 0.0 00 1000
30 ~ 394 79.6 0.0 18.6 0.9 0.9 2.2 533 444 0.0 0.0 0.0
40 ~ 49M| 80.5 0.5 16.5 25 0.0 0.0 453 547  100.0 0.0 0.0
50 ~ 59A 86.8 23 8.2 2.7 0.0 1.6 384 60.0 1000 0.0 0.0
60M| Ol & 90.5 2.1 25 48 0.0 48 23.7 714 88.9 0.0 11.1
65M| Ol & 89.8 26 26 5.0 0.0 5.5 20.5 73.9 88.9 0.0 11.1
<HXe ZRE>
T el 86.8 2.2 6.0 5.1 0.0 43 27.2 68.4 90.0 0.0 10.0
Otmte 83.7 1.1 12.9 2.1 0.2 16 40.7 57.7 833 0.0 16.7
g F=E 100.0 0.0 0.0 0.0 0.0 0.0 66.7 333 0.0 0.0 0.0
M| CH 3= E4 66.7 0.0 333 0.0 0.0 0.0 50.0 50.0 0.0 0.0 0.0
7|Et 100.0 0.0 0.0 0.0 0.0 0.0 143 85.7 0.0 0.0 0.0
<7t HERAS>
1002t O] 2F 87.3 2.1 48 5.8 0.0 45 17.4 78.1 714 0.0 28.6
100~200 85.2 1.9 9.7 3.2 0.0 33 315 652 1000 0.0 0.0
200~300 79.5 15 16.4 2.6 0.0 0.0 426 574  100.0 0.0 0.0
300~400 87.4 0.0 10.8 0.9 0.9 2.1 515 46.4 0.0 0.0 0.0
400~500 88.5 26 9.0 0.0 0.0 14 46.4 522 100.0 0.0 0.0
500~600 85.2 0.0 148 0.0 0.0 43 69.6 26.1 0.0 0.0 0.0
600~700 87.5 0.0 125 0.0 0.0 0.0 714 28.6 0.0 0.0 0.0
700TH O] & 85.7 0.0 8.6 5.7 0.0 33 60.0 36.7 0.0 0.0 0.0
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31-2. 88 5834
(Bl - %)
SSYHAT M= e HE) =89 (X|St) =82 (7|Eh
J0iE | oM | BN atjz | dsiM | BN atiz | M | BN
= = =8 =5 =5 =5 =iy =i =i
2015 89.6 42 6.3 5.9 0.0 94.1 0.0 100.0 0.0
<X|gE>
A X< 83.0 6.4 10.6 11.1 0.0 88.9 0.0 100.0 0.0
B XY 95.9 2.0 2.0 40 0.0 96.0 0.0 0.0 0.0
<A Hs
=N 87.8 54 6.8 10.0 0.0 90.0 0.0 100.0 0.0
of Xt 955 0.0 45 0.0 0.0 100.0 0.0 0.0 0.0
< E>
xE 66.7 16.7 16.7 0.0 0.0 100.0 0.0 0.0 0.0
5 E 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
nE 97.2 2.8 0.0 16.7 0.0 83.3 0.0 100.0 0.0
o= 82.1 5.1 128 0.0 0.0 100.0 0.0 0.0 0.0
<Xl
2| 66.7 0.0 333 0.0 0.0 0.0 0.0 0.0 0.0
MEZLEHMETL 76.9 15.4 77 0.0 0.0 100.0 0.0 100.0 0.0
AHRE] 929 0.0 7.1 0.0 0.0 0.0 0.0 0.0 0.0
MH| AT E] 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
S Ltz 100.0 0.0 0.0 10.0 0.0 90.0 0.0 0.0 0.0
7|s& 7| A ZE 83.3 11.1 5.6 100.0 0.0 0.0 0.0 0.0 0.0
ChalL 2% 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
HEFEE 83.3 0.0 16.7 0.0 0.0 100.0 0.0 0.0 0.0
7| Bt 91.7 0.0 83 0.0 0.0 100.0 0.0 0.0 0.0
<HHE>
15 ~ 19A| 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 ~ 29A| 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
30 ~ 394 76.2 95 143 0.0 0.0 100.0 0.0 100.0 0.0
40 ~ 49M| 90.9 3.0 6.1 20.0 0.0 80.0 0.0 0.0 0.0
50 ~ 59A 88.9 5.6 5.6 0.0 0.0 100.0 0.0 0.0 0.0
604 0| & 100.0 0.0 0.0 48 0.0 95.2 0.0 0.0 0.0
654 0| & 100.0 0.0 0.0 5.9 0.0 94.1 0.0 0.0 0.0
<HXe ZRE>
T el 100.0 0.0 0.0 8.7 0.0 91.3 0.0 0.0 0.0
Ol E 85.3 5.9 8.8 0.0 0.0 100.0 0.0 100.0 0.0
g F=E 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
M| CH 3= E4 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7|Et 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<7t HERAS>
1002t O] 2F 93.8 0.0 6.3 0.0 0.0 100.0 0.0 0.0 0.0
100~200 95.2 0.0 48 0.0 0.0 100.0 0.0 0.0 0.0
200~300 93.8 3.1 3.1 400 0.0 60.0 0.0 0.0 0.0
300~400 66.7 16.7 16.7 0.0 0.0 100.0 0.0 100.0 0.0
400~500 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
500~600 50.0 25.0 25.0 0.0 0.0 0.0 0.0 0.0 0.0
600~700 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700TH O] & 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
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32. EH4LY WXL
32-1. XY 7|8 ) =4

1=
Mo
I
o

M 7|(EAE 2 22| HiE =42 JH|E &2
of o121 S A T 2t = .
B o A Rty R IR s A I
Cf 2=Ct =0t Ct
2015 493 414 8.9 0.3 40.1 495 9.9 0.6
<X|gE>
A XY 473 423 10.2 0.2 374 52.0 103 03
B X< 52.0 403 73 0.4 43.6 46.2 94 0.9
</ dHs
= At 447 439 11.1 0.3 35.1 52.2 12.1 0.5
of Xt 53.9 39.0 6.7 0.4 450 46.8 76 0.6
<S>
xE 473 378 14.0 0.9 51.0 36.9 11.0 1.1
5 E 441 45.1 10.8 0.0 416 46.8 114 0.2
i 489 445 6.2 0.4 385 54.1 6.9 0.4
o= 544 383 73 0.0 328 54.9 117 0.6
<Xl
2| 52.3 411 6.7 0.0 27.1 66.4 6.5 0.0
MEZLEHMETL 53.8 428 34 0.0 354 55.6 9.0 0.0
AHRE] 51.6 38.0 9.2 1.2 36.0 50.5 12.4 1.0
AMH| A EHOf A 52.7 425 48 0.0 40.9 51.0 8.1 0.0
SR 31.2 457 23.1 0.0 36.1 483 147 0.9
7|s& 7| A ZE 478 458 5.8 0.6 36.4 57.7 53 0.6
Cter 2 X 50.4 425 7.1 0.0 446 49.4 6.1 0.0
HEFEE 61.1 354 3.1 04 523 414 54 0.9
7| E} 427 425 143 05 356 479 15.7 0.8
<HHEE>
15 ~ 19A| 27.9 54.1 18.0 0.0 213 58.9 19.8 0.0
20 ~ 29A| 37.7 483 14.0 0.0 27.9 56.6 147 0.8
30 ~ 394 535 410 5.0 05 334 53.2 126 0.8
40 ~ 49M| 50.8 455 34 03 342 59.7 5.8 03
50 ~ 59A 55.8 373 6.9 0.0 46.8 47.1 6.1 0.0
60M| Ol & 51.6 35.8 12.0 0.7 53.1 36.8 9.1 1.0
65M| Ol & 50.0 35.1 14.1 0.9 53.4 35.5 9.8 13
<HXe ZRE>
T el 443 419 135 03 434 446 114 0.6
Otmte 529 411 56 04 375 52.9 8.9 0.6
g F=E 487 513 0.0 0.0 25.8 66.4 79 0.0
M| CH 3= E4 52.7 473 0.0 0.0 23.9 76.1 0.0 0.0
7|Et 70.6 185 109 0.0 60.2 39.8 0.0 0.0
<7t HERAS>
1002t O] 2F 469 415 10.7 1.0 499 39.7 94 1.0
100~200 483 383 13.2 03 38.9 488 114 0.9
200~300 50.9 417 7.2 0.2 36.7 543 8.8 0.2
300~400 50.5 442 5.2 0.0 373 513 10.7 0.7
400~500 445 480 75 0.0 29.6 59.8 10.6 0.0
500~600 61.9 327 54 0.0 50.0 429 7.1 0.0
600~700 58.5 342 7.2 0.0 29.1 63.7 72 0.0
700TH O] & 545 40.1 54 0.0 384 524 93 0.0
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of 2t = Ee ! ofzt = c
B o A Rty R IR s A I
=Lt 2e=rt Ct Ct
2015 234 477 27.0 1.9 325 477 189 0.9
<X|gE>
A X< 20.1 494 28.4 2.0 29.8 50.2 19.2 0.8
B X< 27.6 456 25.2 1.7 36.0 445 185 1.0
<A Hs
=N 19.6 459 325 2.0 26.2 489 24.0 0.9
of Xt 27.1 496 216 18 38.8 46.5 137 1.0
<S>
xE 32.8 379 26.1 32 423 393 16.7 17
5 E 25.2 462 26.3 23 35.2 463 176 0.9
i 213 51.9 25.9 0.8 304 488 20.3 05
o= 17.7 50.9 29.5 2.0 26.0 53.6 19.6 0.8
<Xl
22l E 11.9 59.7 284 0.0 21.0 58.2 20.8 0.0
MEZLEHMETL 149 56.0 27.5 16 26.2 56.9 16.0 0.9
AHRE] 18.9 426 375 1.0 24.8 484 26.7 0.0
MH| AT E] 25.9 476 26.1 0.4 316 489 19.1 0.4
S Ltz 216 50.2 25.8 25 314 53.8 136 1.2
7|s& 7| A ZE 21.0 51.4 236 40 28.0 484 214 2.2
ChalL 2% 216 51.0 274 0.0 324 455 215 0.6
HEFEE 333 475 17.2 2.1 46.2 419 10.6 14
7| Et 21.2 413 349 26 294 446 25.3 0.6
<HHEE>
15 ~ 19A| 14.8 438 38.1 34 20.0 52.8 26.1 1.0
20 ~ 29A| 149 435 394 2.2 20.7 473 32.0 0.0
30 ~ 394 14.8 492 334 26 20.0 56.5 21.7 1.8
40 ~ 49M| 20.9 554 22.7 0.9 294 50.8 19.1 0.6
50 ~ 59A 26.6 55.7 175 03 416 46.9 115 0.0
60M| Ol & 336 39.2 246 26 439 39.9 147 1.6
65M| Ol & 34.4 37.7 25.0 29 442 38.8 15.0 20
<HXe ZRE>
T el 27.7 445 26.0 19 375 473 14.1 1.1
ofmte 20.1 497 283 1.9 28.7 475 23.0 0.8
g F=E 9.0 74.4 16.6 0.0 29.1 64.7 6.2 0.0
M| CH 3= E4 0.0 100.0 0.0 0.0 23.9 76.1 0.0 0.0
7|Et 498 393 109 0.0 394 60.6 0.0 0.0
<7t HERAS>
1002t O] 2F 30.5 414 25.8 2.2 424 40.0 16.0 16
100~200 20.7 478 27.9 35 315 477 19.2 15
200~300 19.6 52.9 26.3 1.1 30.0 51.0 189 0.2
300~400 243 469 274 14 27.1 482 23.3 14
400~500 189 489 307 15 26.5 52.9 20.6 0.0
500~600 25.1 52.9 22.1 0.0 32.1 499 18.0 0.0
600~700 112 63.5 25.2 0.0 35.7 488 155 0.0
700TH O] & 264 46.4 27.2 0.0 27.6 56.9 155 0.0
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32-3. BHEANINE 7Y U 87 U KBS0 Hof
(TH91 : %)
SHATIB Y E T sty W XS E0 &
o o7t = ke o o 71 = ke
" " LEHSHK| | - #HLX]| T HEIX| | =HOHK|
SSEN | =80 g | geg | SEEMH | EERH olg | gog
2015 124 25.3 433 19.1 8.0 24.2 416 26.2
<X|gE>
A XY 8.9 26.2 441 20.8 9.0 26.4 427 220
B X< 16.9 24.0 422 16.9 6.8 213 40.1 31.8
<A Hs
= At 10.5 247 46.5 184 79 249 428 244
of Xt 14.2 25.9 40.1 19.8 8.2 235 40.4 28.0
< E>
xE 11.2 94 383 411 47 15.1 39.2 41.1
s 1.7 203 50.9 17.2 9.4 228 46.1 217
nE 109 30.2 469 12.0 8.0 27.1 42.1 22.9
o= 15.4 34.1 38.1 124 9.7 283 40.2 218
<Xl
= kS 15.9 442 30.0 9.9 183 325 344 147
MEZLEHMETL 11.8 384 37.2 126 75 31.9 405 20.1
AHRE] 16.2 287 4238 12.3 11.6 284 428 17.2
M| ATZHOYE] 16.3 29.4 46.0 84 104 22.8 439 23.0
SR 42 11.0 34.8 50.0 5.9 20.3 40.8 33.1
7|s& 7| A ZE 15.7 217 46.5 16.1 4.1 26.0 452 247
Cter 2 X 35 222 56.1 18.2 46 222 442 29.1
HEFEE 17.6 26.6 375 18.4 9.1 21.1 40.0 29.8
7| Bt 85 21.9 50.1 19.6 6.9 24.1 40.7 283
<HHE>
15 ~ 19A| 12.2 26.5 464 149 9.8 25.2 454 195
20 ~ 29A| 77 31.8 43.1 174 7.0 187 492 25.2
30 ~ 394 14.4 29.3 46.0 10.3 6.4 27.5 418 243
40 ~ 49M| 13.6 333 422 109 9.0 324 394 19.2
50 ~ 59A 14.6 28.2 418 15.4 118 25.6 416 209
60M| Ol & 10.9 12.6 426 339 5.8 17.8 38.9 375
65M| Ol & 11.3 8.7 416 383 5.2 15.2 383 413
<HXe ZRE>
T el 133 16.1 432 27.4 6.4 16.7 46.2 30.7
ofmte 12.1 315 435 12.9 95 29.5 38.6 224
g F=E 0.0 63.3 28.0 8.7 0.0 51.2 6.1 427
M| CH 3= E4 0.0 28.8 71.2 0.0 0.0 144 474 383
7|Et 0.0 36.1 375 26.5 0.0 26.5 375 36.1
<7t HERAS>
1002 0| Tk 6.9 11.1 494 326 6.8 16.0 409 363
100~200 9.0 22.9 456 224 10.1 20.7 428 26.5
200~300 13.1 329 395 145 6.8 29.6 40.2 234
300~400 16.9 26.0 457 114 45 27.5 459 22.1
400~500 17.1 332 38.2 115 5.8 25.6 432 25.3
500~600 214 335 36.2 8.9 19.1 26.1 413 135
600~700 22.0 335 445 0.0 12.1 40.8 359 11.2
7002t 10| & 18.6 445 26.8 10.1 15.7 395 29.6 15.3
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33.

ol x| ot A

Oil A X| X AN Mz Oi| L X|
2 Horg
ot QILCt 2 ﬂoti s aM | K a3 ipq ?61 gzd =
= =21 = SHA| %S
2015 73.7 100.0 187 473 32,6 1.5 0.0 26.3
<X gE>
A XY 743 100.0 16.2 472 347 2.0 0.0 257
B XY 729 100.0 22.0 474 29.8 038 0.0 27.1
</ dHs
= At 787 100.0 16.5 455 35.8 2.2 0.0 213
of Xt 68.7 100.0 21.2 493 28.8 0.7 0.0 313
<S>
xE 458 100.0 337 476 18.7 0.0 0.0 54.2
5 E 76.1 100.0 203 432 344 2.1 0.0 239
i 79.1 100.0 15.7 469 36.1 13 0.0 209
o= 86.6 100.0 15.2 496 332 2.0 0.0 134
<Xl
22l E 87.3 100.0 133 57.6 29.1 0.0 0.0 12.7
MEZLEHMETL 92.7 100.0 104 53.2 343 2.1 0.0 73
AHRE] 84.4 100.0 18.6 425 37.9 1.0 0.0 15.6
MH| AT E] 78.2 100.0 16.9 50.8 314 09 0.0 218
SR 487 100.0 14.0 64.7 213 0.0 0.0 51.3
7|s& 7| A ZE 82.2 100.0 15.7 36.3 46.5 1.6 0.0 17.8
ChalL 2% 73.8 100.0 19.0 337 447 26 0.0 26.2
MEFE 719 100.0 24.6 50.7 23.1 1.6 0.0 28.1
7| Bt 67.9 100.0 22.5 423 330 2.1 0.0 32.1
<HHE>
15 ~ 19A| 79.8 100.0 9.4 409 46.8 29 0.0 20.2
20 ~ 29A| 74.2 100.0 129 335 499 38 0.0 25.8
30 ~ 394 80.4 100.0 11.8 455 411 15 0.0 19.6
40 ~ 49M| 87.7 100.0 135 51.3 332 2.0 0.0 123
50 ~ 59A 80.7 100.0 213 53.8 242 0.7 0.0 193
60M| Ol & 54.0 100.0 343 48.1 17.6 0.0 0.0 46.0
65M| Ol & 479 100.0 40.0 433 16.7 0.0 0.0 52.1
<HXe ZRE>
T el 65.4 100.0 219 50.3 26.6 1.2 0.0 346
ofmte 79.4 100.0 16.8 452 36.6 14 0.0 20.6
g F=E 100.0 100.0 24.4 35.8 39.8 0.0 0.0 0.0
M| CH 3= E4 76.1 100.0 0.0 81.0 19.0 0.0 0.0 239
7|Et 89.1 100.0 9.0 62.0 8.1 20.8 0.0 10.9
<7t HERAS>
1002t O] 2F 55.6 100.0 30.0 423 263 14 0.0 44.4
100~200 722 100.0 15.9 46.0 35.1 3.0 0.0 27.8
200~300 77.8 100.0 16.7 476 344 13 0.0 22.2
300~400 85.2 100.0 16.0 423 40.7 09 0.0 148
400~500 78.6 100.0 146 55.1 29.6 0.7 0.0 214
500~600 96.9 100.0 21.1 56.3 22.6 0.0 0.0 3.1
600~700 92.8 100.0 36 76.9 19.5 0.0 0.0 7.2
700TH O] & 833 100.0 19.6 487 29.5 2.2 0.0 16.7
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